HI-CLASS TOP 30 IB ACEC / UV KL / TOUCHLESS R134a & R290

oo 0 o

° 0O oo

A I
LATANAAATTTATITITITI NIRRT
A LAY
AL LB MMM Y

AT
LAALLLAHATARARARAEAARARRENR
AAATATATATATATARARARURARANR
1AL LEIEEEIAEEI AR

A LTI
/TAUEAARANATAAAHAARAARARARANATUAARAN R
L LI MY
TEATANANANTUANITTNUTTRNATRATARATARTUNRANRRN

™

0 F —T—y

AAAAMAITARITITIIRAMANNNNN
(L1ALALAAARARAARRRANRRANANRRA
AN
0 JULLLLLLLL LA ANARATARATIRR W

™

Moo
o TR
iy
g

ACEC

on

o

o

N

—

o =

oN

Eal—

=l =

g1 O

5] LJ
mD

=l O

%) |

2] o

| X

= .
~ e ..&O.D.
< |s §|27]2
3 (& Elg |~
<% 2|8 |E
O |o o 2|2 (o
w |8 JdZ |- 0 |=Z
o
ol|s |E

o2 |2 | <
= |

a e T
e (1T
wn M
(%] -
< H
s} -
: ||
=S .. | CD
£8(< (8

g4 (3 ]
o O |O




HI-CLASS TOP 30 IB AC EC/UV KL/ TOUCHLESS R134a & R290

ih =
POS _|P/NUMBER _|DESCRIZIONE DESCRIPTION AN
} 302570 __|COMPRESSORE PER R134a COMPRESSOR FOR R134a
302587 |COMPRESSORE PER R290 COMPRESSOR FOR R290
2 309358 |STAFFA PER CONDENSATORE BRACKET FOR CONDENSER
3 307663 |KIT 4 SPEZZONI 40x10x2mm KIT 4 STRIPES 40x10x2mm
4 303539 [GRIGLIETTA INOX STAINLESS STEEL GRILL
5 207934 [MOTOAGITATORE MICROMEGA 230V-50 MICROMEGA AGITATOR 230V-50
s 305655 |[VASCHETTA BIANCA WHITE PLASTIC DRIP TRAY
305656 |VASCHETTA NERA BLACK PLASTIC DRIP TRAY
7 208093 [ELV 2 INGR.1USC. 220-240V SOLEN.VALVE 2IN-10UT 220-240V
8 303421 [CARTER EROGAZIONE DISPENSING HEAD
9 303422 [COPERTURA EROGAZIONE COVER FOR DISP.HEAD
10 305657 |GALLEGGIANTE ROSSO RED FLOAT SIGNAL
11 304568 [GOMITO 3/8M-6 ELBOW 3/8M-6
12 304943 [GUARNIZ. x PERLATOR GASKET FOR PERLATOR
13 304252 |AERATORE PERLATOR AERATOR PERLATOR
14 304251 [BECCUCCIO INOX 304 AREATORE STAINLESS STEEL NOZZLE
15 303423 [SUPPORTO BECCUCCIO BRACKET FOR NOZZLE
17 303328 [BLOCC.ICE BANK PER HI-CLASS BLOCK ICE BANK FOR_HI-CLASS
18 305665 |FRONTALE BIANCO IN PLASTICA V19 EC WHITE PLASTIC FRONT PANEL EC
305664 |[FRONTALE NERO IN PLASTICA V19 EC BLACK PLASTIC FRONT PANEL EC
19 208164 |LED BLU 250V BLUE LED 250V
21 208138 [LED BIANCO 250V WHITE LED 250V
22 306377 [PULSANTE ELETTRICO 2 PIN ELECTRIC BUTTON 2 PINS
27 302916 [DIVISORIO CENTRALE METAL DIVIDER
28 308861 |VASCHETTA COMPLETA V19 NERA COMPLETE DRIP TRAY KIT BLACK V19
308858 [VASCHETTA COMPLETA V19 BIANCA COMPLETE DRIP TRAY KIT WHITE V19
29 305554 |DIFFUSORE LUCE TASTI AQUALITY LIGHT DIFFUSER FOR BUTTONS (TRANSP. PLASTIC)
a1 210179 [TASTINO 14x14 NERO SERIGR. "F" BUTTON 14x14 NERO PRINT "F"
307995 [TASTINO 14x14 BIANCO SERIGR. "F" BUTTON 14x14 BIANCO PRINT "F"
2 307994 [TASTINO 14x14 NERO SERIGR. "A" BUTTON 14x14 NERO PRINT "A"
307993 [TASTINO 14x14 BIANCO SERIGR. "A" BUTTON 14x14 BIANCO PRINT "A"
33 306578 |SCHEDA H20 AC EC PCB H20 AC EC
34 306641 [LED BLU 230V TB/09/SLTS IP65 60° BLUE LED 230V IP65 60°
35 226091 [OMEGA FIX PLEXI HI-CLASS OMEGA FIX PLEXI HI-CLASS
36 305631 [DIFFUSORE DI LUCE FRONTALE HI-CL20/30/65 FRONTAL PLASTIC LIGHT DIFFUSER_HI-CL20/30/65
37 307840 [ICE BANK COMPLETO R134a AC EC COMPLETE ICE BANK R134a AC EC
215665 |ICE BANK COMPLETO R290 AC EC COMPLETE ICE BANK R290 AC EC
20 226098 [ELETTROV. DI INGRESSO EKI ALTERNATIVA 3/4M-JG6 230V __|ALTERNATIVE EKI INLET SOLENOID VALVE 3/4M-JG6 230V
210095 [ELETTROV. DI INGRESSO 3/4M-6 230V, INLET SOLEN. VALVE 3/4M-6 230V
» 308145 [TASTINO 14x14 NERO SERIGR. "AMB+FREDDA" BUTTON 14x14 NERO PRINT "AMB+COLD"
308144 [TASTINO 14x14 BIANCO SERIGR. "AMB+FREDDA" BUTTON 14x14 BIANCO PRINT "AMB+COLD"
42 040963 [SPINA IEC SNAP IN STS350 IEC CONNECTOR STS350
44 272027 [CONDENSATORE NERO BLACK CONDENSER
45 208963 [VENTOLA 120x120x25 230V _PER R134a FAN MOTOR 120x120x25 230V_FOR R134a
304185 [VENT.XFAN RAH1225B1 120x120x25 230V FAN MOTOR XFAN RAH1225B1 120x120x25 230V
46 107924 |SCHEDA PER TOUCHLESS CL107924 PCB FOR TOUCHLESS CL107924
48 107862 |STAFFA IN PLASTICA PER SENSORE TOUCHLESS PLASTIC BRACKET FOR TOUCHLESS SENSOR
49 107870 |SENSORE TOUCHLESS TOUCHLESS SENSOR
50 303432 [RETROPANNELLO PER R134a REAR PANEL FOR R134a
52 272018 [PIEDINO IN GOMMA H=10 mm RUBBER FEET H=10mm
53 272026 [SUPP.ANTIV.(BIANCO) PER COMPRESSORE ANTIVIBRATION SUPPORT FOR COMPRESSOR
5 306817 |VITE PLAST.T.S.M4x10 BIANCA WHITE PLASTIC SCREW M4x10
306818 |VITE PLAST.T.S.M4x10 NERA BLACK PLASTIC SCREW M4x10
5 303455 [INVOLUCRO BIANCO HI-CL30 WHITE HOUSING HI-CL 30
226123 [INVOLUCRO NERO HI-CL30 BLACK HOUSING HI-CL 30
53 212981 [INVOLUCRO BIANCO HI-CL30 PER TOUCHLESS WHITE HOUSING FOR TOUCHLESS
303637 [INVOLUCRO NERO HI-CL30 PER TOUCHLESS BLACK HOUSING HI-CL 30 FOR TOUCHLESS
59 227078 [NEWA MC450 AGITATORE 230V-50/60 NEWA MC450 AGITATOR 230V-50/60
60 302920 [STAFFA SUPP.ELETTROVALVOLA BRACKET FOR SOLEN.VALVE
64 303435 [BASE HI-CLASS 30 BASE HI-CLASS 30
65 305183 [MANIGLIA NERA 90mm BLACK PLASTIC HANDLE
66 303436 [RINFORZO HI-CL30 SIDE BEAM HI-CL 30
67 309539 [CONVOGLIATORE CONVEYOR
68 212740 [PANNELLO POSTERIORE HI-CL30 R290 REAR METAL PANEL
6 208160 [INTERRUTTORE GENERALE VERDE PER R134a GRREN GENERAL SWITCH FOR R134a
215689 [INTERR.GEN EXPLOSION PROOF GENERAL SWITCH EXPLOSION PROOF
74 208127 [FLOWMETER 9.0.98.61G (PLASTICA) FLOWMETER 9.0.98.61G (PLASTIC)
75 306317 [SCHEDA DISPLAY 4x2 FASTON DISPLAY PCB_4x2 FASTON
76 306415  [CAVO GRIGIO L=400 mm CONNECTION CABLE 400mm




7 306414 SCHEDA RELE' RELAY PCB
78 306389 CAVO COLLEG. L=800mm PER EC CONNECTION CABLE 800mm
79 306269 CAVETTO CONTALITRI EC CABLE FOR FLOWMETER
80 306643 LED "UV STATUS" LED "UV STATUS"
81 305644 PLACCA PLASTICA TRASP. DISPLAY HI-CL EC PLATE TRANSP.PLASTIC DISPLAY HI-CL EC
82 303484 FRONTALE PORTANTE HI-CL30 EC METAL SUPPORT FRONT PANEL HI-CL 30 EC
84 308133 TASTINO 14x14 NERO SERIGR. "SETTINGS" BUTTON 14x14 NERO PRINT "SETTING"
308134 TASTINO 14x14 BIANCO SERIGR. "SETTINGS" BUTTON 14x14 BIANCO PRINT "SETTING"
85 226171 SUPPORTO PULSANTI HI-CL30 EC BRACKET FOR BUTTONS
86 303482 SUPPORTO DIFFUSORI HI-CL30 EC BRACKET FOR DIFFUSER
87 303481 CHIUSURA DIFFUSORI HI-CL30 EC CLOSURE FOR DIFFUSER
88 209604 SONDA PER 30/45 EC L=67,5+TUBO GUIDA PREPARED THERMAL SENSOR FOR ICE BANK
89 306071 CAVO HO5VV-F 3x0,75 CO/S 90°DX SHUKO SHUKO POWER CORD 3x0,75 2m
208187 CAVO HO5VV-F 3x0,75 CO/S 90°DX INGLESE UK POWER CORD 3x0,75 2m
90 303612 STAFFA IN METALLO PER REATTORE METAL BRACKET FOR UV REACTOR
91 306506 STAFFA IN PLASTICA PER REATTORE PLASTIC BRACKET FOR UV REACTOR
92 304591 REATTORE UV KLARAN KLARAN UV REACTOR
93 306383 PCB 3822749 PER REATTORE PCB 3822749 FOR UV REACTOR
94 210615 TRASFORMATORE TR1524 230-24V 15VA TRANSFORMER TR1524 230-24V 15VA
Il =
POS |P/NUMBER |DESCRIZIONE DESCRIPTION Z 1NN




